10255, SOLUTION , DSSSB (Nursery teacher's)

Ques 1. ANS (C) Solution:

R H Ugell warsd! A gd 6 3T U 3 Ties greifAe waf
BT yfauTe 8 T UT| 3N A bl Fe e Rigid ®8d &
T <2 & Udas wiua g 31 39 o= & YRd &1

YT =i AT ST 81 39 % B Upfd &Y vy I A
1 8| T2 - Udae AN - HefS udwifer =g - g8y Maw
TR0

Ques 2. ANS (C) Solution:

1T {1 R SR & Hovarg] o Ieigd U | U JITel STa=Ig
3PHER P YU TG A1 7 Rig 7 1591 3. F R SIS BT
TRIFSTT T U1 3R Uy (FIRWS) & G TR & el B
SRR

Ques 3. ANS (C) Solution:

AR AU FERTY & GaRT fora & Rud T Uil o
JUTd § | I8 SIAudTd aRell 761 R YT g1 HRd & $© U8
SruTd e 8-

TUENR SeEua | Hisar a4 T
IR Slefsud | <HeT A€l e §4¥]

Ques 4. ANS (A) Solution:

R GUS Hfgdl B YR 354C P SHTIR ATH-SAb Th SURTY
1 39 URT & STHR AR BIE g, SN fobell urzde ey  aeht
ol it @1, St 37 uRkfRufaat & o a8 a8 U= el @
o I 1 T8 TN @1 §, e dh /1 1 39 Fd | fored aafad
1 IS B R BIs 3T G ITBT 3 JIHT 374al 39
ot ) TR X, T Sy Rifg R B0 A A 1 9 o
PRI S i a9 T TRt off Jbiil, <fSd fopar S 3R
A ¥ off g grm

Ques 5. ANS (D) Solution:

Fled B ARG TSI Bt TSHTT TG R ISP Ggantt
SIETHT Uy 3R S{aHgT gdt ¥ 124 2dTect & (1106-68 5.
BT oT| ST BRI IS & aRaR § Al & | 3P Sardy
IR Q9 9 feirra Heard | s9% Srardt g &t s e %
YA A A U1 3T TS & G3Y 30 aRGH W dial &
U fUeR # U a9 ol &1 yRUT v A

Ques 6. ANS (B) Solution:

FraTe SiepifaT T Ifearg =R g faars! 81 g ATP
R fay 2 3T & yyw =i e mar g1 At Sidifaa
329 Bl & RepTS THT deb TuH BT R R | 3(d Ib I
20 ¥ WA T3Y Uahd &1 Raare 3R 85 Tt ueh faare st
gl

Ques 7. ANS (A) Solution:

T HY W13d (The famous five) Sl & ATERI® ST DI
T el & o) ugel fbdie Brgd 3 T ToR 3geive’
1942 H UHIRId g8 M| S9F s TS Sefle 81 8
UG § B S & U qgg-siferd, f$a, T, S ofik
IG® Pl forrlt & e pRATHI & uefid fbar mar 31

Ques 8. ANS (B) Solution:

ORI & SHIR fofdl & =MD Tl § RRyd FHRoft Arar dfex
YR BT TS ST 1Y RId & | 5181 g BT ol D1 el 61 39
NS AfeR & 19 F 1 STH1 ST 81 39 HieR & @ 20000
TR T ¢ | AR H Wb Ig! o1 fora= W AT o 1 39
TifeR @1 AT AR Rarad & AgRIeT 7 g 3 204
TTdled! | HRAMAT ATl

Ques 9. ANS (A) Solution:

AT qUT & TTHT 300 TGl = Ffau™ & Fafor & faw go
299, 11 |18 3R 18 o &1 gw foran qur Ty & uRey R
Fd 114 &7 959 g3 | Sidym™ Moo o & a e
63,96,729 ¥4 Y gUI

Ques 10. ANS (A) Solution:

S AR BT AMIHR FApien X1 v 1887 5. H fpar o)
TS TG SATATHR 3R T MIBR 77 8- T TR -
¢ g5 () BREXER - o SR (o) SR, e -
S I @fcsrad) Tl fae - . T, 3T () Siotd g -
T SIh SO (STHA

Ques 11. ANS (B) Solution:

Tpd e § AR gesi bl hrdg d¥id | e &1
FAYH TN BHegUl §RT [T 77| el gRT Ifd Yidd
ISR RSl @Y e B 1 39 U H 36 gl § R av
PG TE 21 39H RN F AR 121 T TP P SR b
D] BT U B

Ques 12. ANS (A) Solution:

'3NETT: T HId G YD & o a1 e & J&T
Targerar Wer dav’ §1 39 G o der §av A gd 3Rt
RIPURT SR1 SSTHT & HTIBTA (2009-2017) & IR AT 5|
Ques 13. ANS (B) Solution:

oY g1 Oey fgarerd, weH fedrerd o gfamr qur Rrarfes feare
F IR T ISP TR 80-100 farft. &t arers & faxga g0
RO, eiemer, TR, ARTfessT Ud #gTyRa At 59 uda
Juft &y B 1 IRuoTe 39 Aot Y G ot Aoft g1 grfifenT
B B 3T feed F 8 A &1 oIrdT 81 I8 7 fRwrery &
UfEH §TTel & SR ARG B

Ques 14. ANS (D) Solution:

YR § 1 &t fRUfY R Fflar a1 e yaferor damag & YR
T aefur gR1 fgarfie ‘WRd o fufa Raie (ISFR) SIRY &t
STt 81 16dT 7 fRufa Rl 2019 & SUR &0 d & 3R 3
TS T HAT: - 1- AL YR — 77,482 T fHHT. 2- 3P0
TS - 66,688 T fHH. 3- BTG - 55,611 T fbH, HRd
I FRUf RUIE-2021 & AR AER0 § 9 31 g
T TS T AT (3.07%), AT TS (2.22%) 3R SfS=m
(1.04%) B

Ques 15. ANS (A) Solution:

R Gfaer fay o1 ga9 9o fafad dfaeum 88 1 4R
fge @t o ufd =<t 3R ordisht ST § gafairad ol 3gd
ot ot THR P =i 41 fiie &1 sxaHTa T8t fobar am Al
ST & yTeTeh § Wiy ot gt ufd Y O et AR
ST A feraT o1 JUT Sfae™ & g U & ol § s 7w ard
S A FoIrT AT | HRA Hfae™ &t 7 ufd URda d9g &t
areskt A Siferem & & T TS B 1 Ffare e & dxgfoaat
& YR W TS WA FHT gRT HRA ST Ffde g7 71




7| 11 fCTTaR 1946 1 TAUF FUT A ST, Iol= UG BT R
e AT UT| URA B 26 TR S AdyH fgaw & ®u o
T ST R

Ques 16. ANS (A) Solution:

foRTT 3R e Afeal YRd & Sruad Ue= & yarfed gl &
formT 7 &1 3w forTa et & <féroft ufdeht Y A §iar 21
galeR = # 98d §U I8 el ¢! fafg 1al # i Sl &1
o T} TR B WETH ! 8| TG, Ao, BT,
FeIRAY 3nfE sreumeet uew # yared e arelt ug Afeat g1
Ques 17. ANS (A) Solution:

HAUIIE HACH B BT foral B HISAT O STfd gRT HRT
A aTel ATeR | HISdl T gl Sl ¢ | 39 dlgR o
PISaT AN 30 BRITRY ) IOl A 20 | 39 BRART 3R
HHA &b AIGR & =0 7 W ST ST 81 78 AeR Riawr
HEA H 7R ST 80 |

Ques 18. ANS (B) Solution:

HTHGTQIITJW (My country my Iife)W“—ﬂ?ﬁ%Qﬁ
JUYYTEA ATTHOT STSaTult gRT foredt 18 SicAew T 81 39
G 1 faulia 9y 2008 # gd PUfd TH S 3fegdl B gRI
o 7T o471 39 Qe | AT STSATuR A U RIS
SiaT J AR I8 2007 TP B It gt Juft gerait o1 gui
fFar gl

Ques 19. ANS (D) Solution:

Ffla Mos fagm iR Wit 7. fords Rig 7 25 wradt 2023
1 FHpTC, HIOTQR H SfRIPT SRS Pl BT IGUIC
1| g8 SexAd TITEe! R TYAI-BHIBIEST of 2281
FHI 3R TS BR TAI-THiGIdrs B 10} BT &
1Y ST o T T

Ques 20. ANS (A) Solution:

TS WBR F Y-7UTE URIR gIolid IHTRTY B
SHTRIET 1 O &1 8, Foras) U8 Xsa &1 1841 a=ioiia
SYIRTY § 7T | YR B a7 i (TR&f0T) e,
1972 1 YRT 26-T & ded HfIgfyd forar mar g1

Ques 21. ANS (B) Solution:

9 3T T Y UPR §
T

i e

AT 3R T & 3IeAT-3THT YBR BI Al § |
Ques 22. ANS (C) Solution:
& TS YT Y TR §-

6 54T 102 166
I I ¥ I | I\

/8 16 32 64 +128
LA 21‘[ .)TI _1

Ques 23. ANS (B) Solution:
Ans. (b) : 79 5FF, 34l YR,

976 6 : 6433 68753547
L + [ KRN
| -3 | -3
3 -3
- =3
-3 -3
#: =353

Ques 24. ANS (C) Solution:

1 +1 “1 |

PO
341 YT
Hek: [ﬁORSE = FTSPﬂ
Ques 25. ANS (C) Solution:
Amns. (c) : &FHT 4,
L P 1 X B

Z D H L. P
(@ LM N N 4+ (b LN N N4
o4+ w4 +4 +4 +4 4

Q) U Y B L] B ¥ J N
(e) L_MN MM A (d) | NN N
4 13 5 4 +4 +4 4
Fa: fowed (o) 3 | 9 ol
Ques 26. ANS (C) Solution:
fau 7T TgIeH @1 w8t gUu ufafdd fawed (o) T < TS sapfa
|
Ques 27. ANS (B) Solution:
Ans. (b) : & T F@AT 4 TFR -

RSP,y B yx B A B up
E—2 5 2, 2,y 2 5w
s— P ax B s B ag B v
T—253R —25P 2 ,3N-2,[L
#d: P = DWML]

Ques 28. ANS (B) Solution:

YR, BT B AISHR HIc adl Wia & §1G g [ddbed
(b) T Y 7T IR 3M1pfa & T fars |

Ques 29. ANS (C) Solution:

Ans. (c) : 59 S&1,
P A CK I NG G

37T Fuivren
FHE=7 14 9 11 31 16
I YR,
F R U1 T S

33T Fuimren
FHF =19 20 9 21 18 6
#: [FRUITS = 1920921186|

Ques 30. ANS (D) Solution:
Ans. (d) : F¥ER 39 RE 999 9 SR 3

thed
Do

ot 1. (V)
I (X)
IWRE oA #ANE H WY § fF sheel RN 1w @
Alfdher &Y 4 HAFE Fl 2
Ques 31. ANS (A) Solution:




Ans. (a) : 519 9K,

12345 54321
FIRST—>STSRIF
T SR,
1 23456789 987 6 5432 1
NOSTALGIC—>[CIGLATSON
Ques 32. ANS (C) Solution:
Ans. (c) : 59 SR,
12 : 144
L
(12)* =144
24l Yo,
15 :
2
(15) = 225
F: [2 = 225
Ques 33. ANS (A) Solution:
Ans. (a) : 934 o FH F=ad -
%=
g
R fert

A ST 451 % F9 T e 3 fr i ¥ T 9
T # ot 921 4

Ques 34. ANS (D) Solution:
E&Tlggi@mﬁ'&a?[%—aab/bac/aab/bac/aab/ba
c/a a b 3d: R R 2abaaaaab

The given series is as follows — aab / bac / aab / bac/aab /
bac/aab hence the blank space is ®abaaaaab

Ques 35. ANS (B) Solution:
Ans. (b) : Bu 9L g2 de2, 24, 9 I&E & did
Hatas a4 FANE =g 3

&=

Ques 36. ANS (A) Solution:
Ans. (a) :

2 2—4
C 5 el 9 ——9

f EN ; T

9
FAT == ‘5 = T vReres =5 g9 ‘9 2
Ques 37. ANS (C) Solution:
3 7TS Uy ST &1 Hg! guu yfafdw faeed (o) & s
il

The correct mirror image of the given question figure will be

the figure in option (c).
Ques 38. ANS (C) Solution:

ELIBEA

HAd: 2 =FTG

Ques 39. ANS (A) Solution:

o gpR ¥ sifRiemiaiione: o T 3 3 g, SH PR 3
SfipIaToTe’ BT JHER] ‘SR ' F g

Just as 'Ophthalmologist’ is related to 'Eye’, in the same way
'Oncologist’ will be related to 'Cancer'.

Ques 40. ANS (B) Solution:

Ans. (b) : o789 SehR,
6 5 1 19 20
F EAS T 9 8 4 22 23
| 43 TI
+3
+3
+3
+3
34l YK,
3012 1> 19 >
CL O S E [6 15 18 22 8|
' ry r 3 'y
| 3t
+3
+3
+3

#d: "CLOSE' &l '6 15 1?22 8' G H forar S|
Ques 41. ANS (C) Solution:
T TR W U g9 UBA AWE 100x #

5% Sfaad I @ -
AR H TEET = 105x
105x=185220
x=1764
UF qY TR AWE = 100x
= 1001764 =176400
Ques 42. ANS (C) Solution:

I . (FMT) = "350

foha 7. = 700

fora g-Fa T o0

79 4.

o % =

700350
350
=330 100
350
=100%
Ques 43. ANS (D) Solution:

x 100




EET| e =65,i?'q'. 7.=56.16
Tl G2 (D) = 10%, 39 T2 (D) =?
(100-D,) (100-D,)
100 100
65)((IOO—IO)X(I(}O—DE)_%_M
100 100
65><90X(100—D2)
100 100
(100—D2):56'16XI000
65x9

(100—D,):M
585

bl Hieha q0x :1%”1

=56.16

100 -D, =96

100 - 96=D,

4=D,

A @ W (D) = 4%
Ques 44. ANS (D) Solution:

AT ST JH8=51 = 100
< OBAT HIEAT d A S A = 130, 160
HT: THIY A 130 _413.46
160
Ques 45. ANS (D) Solution:
P, Q T R o =td o1 T 37JId

=35000 x 1:45000 = 1 : 55000 x 1
=7:9:11

& o9 = 40500

40500x7 40500x7 .
A P e = “ * L — 10500
719+11 27

Q &I fBE 274053_?X9=‘ 13500

i

2050011 .
R & feem :sz 16500

A

FA: P, Q HX R & TIA ol AL 10500, "13500 3

* 16500 €1
Ques 46. ANS (D) Solution:
AT T & T U HA & o0 x =5 1 70T

%%

1 1 1
——=—
x 18 12
1.1
X
1

12 18
3-2 1

x=36%

T 3T 59 21 et fepam T s —
1. 1 5+4 9
36 45 180 180

ﬁﬁﬁmwwﬁ#mwzgzzofﬁ

Ques 47. ANS (B) Solution:

5x6

= W AR =—— =0.3 ¥H
100

oy fagur = 4 @2t

L 3 0.3
v AT | =i+ 6 9y = T;«.loo = 7.5%

Ques 48. ANS (D) Solution:

ST A I 1 VST I I :%
ET B 3R 1 TUST S & :4—15

Y C 3T 1 ©UST i &l _b

60
AR U= R HH H o R L r
30 45
6+4-3
180

1

60

7 180 { 1
=——="—=25+~ |min
180 7 7

Ques 49. ANS (A) Solution:
T = 6.25%, qfer =

5 H@EE 2017 § 19 309 2017 = 73 =

o sy = 00062573
100%365
 50x625x73
©100x365
_ 1x125x73 _

2% 73
Ques 50. ANS (B) Solution:

1625

5000

_B
7365




25
afs =TT FEEE = A,
= A = 0%
e = 4 o

TEGE T = HEE [r1+ ET“ —1}
L 100

:x_llxllxllxll—mﬂ‘l]ﬂ}
i 10000
:x'14641—1ﬂ-0-&[}}

10000

 4641x
10000

AN,
4a41x 1lx
0000 25
464 1x — 4400x%
10000
241x

10000
=2 10000 = "20000
Ques 51. ANS (C) Solution:

AT TR S4hn W0 S g = 4x T
o =i o aee A = Tx
i =aftn =l aiem A = 9x a9
3 o Uget w1 S w1 g W =56
dx—8+Tx-8+9x—-8=36
20x=280
x=4
T TES I AT W IR g =0x=0x 4=3674

Ques 52. ANS (B) Solution:

=482

=452

IR 3Ten1 T TRIG FH - W, X, V. Z
FIATR,

=

W+X+Yy 255

3

wHx+y=765...(1)

xtyta=38S . . )

T (2) # B ¥ (1) =R T

Z-w=12
A TE = Fa8 987 o - Fa§ I Fop
z—w=1?

Ques 53. ANS (B) Solution:
T M F e = x kmbr

3@=40km
FIATTER,

( N\ 7
G
§+6 . W
X X

:E A, =1-2
X X

316—24=_1

X
= -8=-x
x= 8 kmhr.
Ques 54. ANS (C) Solution:
AT e o x e @

TR = .Eﬁ;_

91
IR,

i+i=6
80 40
X+2x _

80
3x=6x80

x =160 fret.

Ques 55. ANS (D) Solution:




wiT 7 ® 919 = xkm/hr
B S M = y kmvhr

7 =D kmhr

Det-y 0
tl

2 =(x+y) = (@)
tl

() W @) T

E-Nu=E+yt
tix-t1y=tix+ tyy
x(t-t)=y 1 +t2)
- ¥t +t,) i
(t-ty)
Ques 56. ANS (A) Solution:
AT TEET A T F9RES A h) I by €
g b

==
ol T T

DF |u’

Wbk

hihe=2:3
Ques 57. ANS (A) Solution:
1,2,3.4,1,2,3.4, 2007
AT 1.2, 3, 4 &l o 94 Fl U2

2007 :
==, =501+3 ¥

<

AT 1,2, 3,4 3 ARTEA = 10
FA ANTEA =501x10+1+2+3
=5010+6=5016
Ques 58. ANS (C) Solution:
U T 3 o @ Wy § 5 W L I ardl Sl B pa
A= 18+7+6+9= 40.
From the given Venn diagram it is clear that total number of
students playing game L= 18+7+6+9= 40
Ques 59. ANS (C) Solution:
cottd + cot?8 =22
cot?B (cot2B+1)=22 | cotlB = coseclB — lI
(cosec?®— 1) (cosec?O0—1+1)=2.2

(cosec?B — 1) (coseciB) =22
cosec*B — coseclB =22

Ques 60. ANS (B) Solution:

(xy) (m,x, +mx, m,y, +my,
x,y)=| = S -
( m +m, m, +m,

3x(=7)+1x5 3x6+1x0
=£ 1+3  ° 143 ]
(2145 18)
_{ 4 '4)

_[—16 18J
44

(xy) =(+4,4.5)
Ques 61. ANS (A) Solution:
Iad T & Rad ®IF (1) & forg gaffre Suged Weg a=r
BRI 3ol are BRT- SR af for ard ) S gidt § I8
Tt o1 et &, o R gHRT 91 781 gl
Ques 62. ANS (D) Solution: ITdd TR & Rad ®IF (2) &
fore waffres Jugad wsg uikad= g1 3rd: guf ared g TT- o
grd 3ol € fRUfY & srjgpet uRad e ot gred 81 B, e
Y g ! U B gl db uRkad= &R Tahd 82
Ques 63. ANS (A) Solution:
o0 3 fyepedl § | TRUIfY g - aren s 31 AW by
LS
Ques 64. ANS (D) Solution:
TG - fadlIa ey — Ui QR - a1 STl —
el arahifered — gt
Ques 65. ANS (D) Solution:
AT — Th TG ol gORI & el BT - TRIehH Sl gWRl &
3{efiF 71 81 - a1 47 R WiaT T A - TN GERT IR
TP X aTelT Sfid — TRefat
Ques 66. ANS (A) Solution:
e T faent § § 'qug’ Y I ITe W &1 A fawmed
LS
Ques 67. ANS (A) Solution:
g - faee wreRor - fafkiy diénd - fawgd fafkiy - wm=a
fR1y - sifAry
Ques 68. ANS (C) Solution:
2 T8 TR ATy 7 98 WR o 7 3R I e a faar &
@ifd s B Jfe 81 76 WY IR W AT BT S ™M R
1Y = IQ TR &A1 1" G| 37 U a1 GTT- 1Y = I8 R
T 3R facett a1 faam
Ques 69. ANS (B) Solution:
32 T a9 & W (2) ¥ HR& e I 7 T BleA A
Hf3= aRfufaal &1 oY &1 gahT Iugad ghm| 3fd: Y A
BI-Hie ¥ Hie- uRfuferal & off g ga=m sreAfaym s=g
G 91|
Ques 70. ANS (C) Solution:
&0 T a3 Wi fde Va1 o1 ot R UaH fovan mar
F UM (2) § PR Taitht e B 1 TgT &1 fo HR' & VM
% oL RRBR' T TONT SUerd SN 3fef: Yok TR BITT-3 0
Hifgfde a1 & ot gResR yaH foar man




Ques 71. ANS (B) Solution: %qnﬁamﬁﬁaamaﬁqﬁ
B HIH" eq HT TN IUGEd BITTT| = 3ict: Yot arey g1T- &l
Ay T A dsH 81"

Ques 72. ANS (D) Solution: faT 7T fased & W8t ad-t aran
T3 "GEHY Bl = 37 AN A fabeq Tad

Ques 73. ANS (C) Solution: &T 7T dTe- "SI BT faeld-
"RNND" AT 5| = 3 PO ek [ 5 g1 Weg faa
NS - UINH gadl - Tad &fivr - gy

Ques 74. ANS (C) Solution: %Q"TQWW— "HTS éﬂﬂ Cal
TRIART BTI- o o QAT | IeTeR0l — H 71 T IgHR UIS
TE1 Ziich T8T UT §feh S R T@T UT| = 3f: B YeTaRT 7 &
— o & T - 3MTSIE BIS 1| U ST - 3T 377 et g1
o YIS ST — 0 T THT| = FR1=1 81 - Hifda g1 /
Jag 1 Note — “HETaRT 3ReT HIS &1 Wed & Rrge!
Mfead 3 - 31T HATN”

Ques 75. ANS (A) Solution:

Ques 76. ANS (A) Solution:

fu Tt faswey & et acd-t aren Wsg- e B 1 <31 W it
e & Teg TAd 51

Ques 77. ANS (A) Solution:

fu Tt o fRad ®iF &1 I 8- /RIG Xeq BT YA
UG BRTN| = 3fd: Gl qrery BIT- "+ Ueb T 3R T W
=

Ques 78. ANS (B) Solution:

faT 1 arer- it %t fag™ 8 & frg areiixr 1 Arfes Weg
BN g | =31 B areiy &1 91 g FF B S-
faford — ford Siid feram e 811 a3 - ot STHaRT dgd 3iftis
BN faR - T gow &t Uelt 1R gt 511 fageh - S it fage
Gl

Ques 79. ANS (D) Solution:

3T U ared & Ywifdd TS &1 UfaRifid o & fre ged
IUged g T U i 98 d 33T T 2" |

= 3fct: gUf dTa gRTI- " THTCR T TH U UHT 95 3T
A"

Ques 80. ANS (D) Solution:

U TTQ T - “fAdBTC BT A T MU IS T H IS
e TE B

Ques 81. ANS (D) Solution: IWIad passage P HE S SR
fYad ®IF (1) H growing (3¢ 81 8) ST BN 3 fddeq
it orf T B Developing - fafa g Swelling — oI
Planting — YT Correct Sentence- ........ There were vines
growing on it.

Ques 82. ANS (B) Solution: IWIFd Passage CRYCE SR
R RIF (2) H them (ITh) BT TANT IuGerd SR | 3 fddvey
fiysr arf A 81 Correct sentence-They looked pretty with the
evening sun on them.

Ques 83. ANS (D) Solution: IWIed IR &b HId & AR
e R T before (U8) &1 YA ST 81| 39 fddbed
fiyer 3rf a0 §1 Correct sentence — Every night before going to
bed, he thanked God for his gifts.

Ques 84. ANS (C) Solution: IWRIGd fdwed H ¥ fadwey (c)

incredulous (FAYTT = B &1 ac-11 Y& gl 3 [davedl ot

ot G{Ql@%l mﬁao—@aﬁgaaﬁ- Recapitulate —
EHTITﬂ%f HAT Lifelessness — fAsiadm Synergism — BIUEIRSIS
Ques 85. ANS (D) Solution: Generous — 3&R, Antonym-—
inconsiderate (ERR)fW Wq?'@%f?ﬂﬁﬂ) 3 fadedt & o
Charitable — GHRId Kind hearted — T Helpful — SUdRTt
Ques 86. ANS (C) Solution: IWRIad a1 H Beside @Wﬁ)
& R W Besides (& IR BT TN ST Rifds a1 &
g & SR JUGad 31f AT Correct sentence— Besides
doing the laundry, Rakesh helped her in cooking also when
she was ill.

Ques 87. ANS (C) Solution: Jubilation — 3=l Synonym
—Rejoicing —» T4 3= fawedt & 31 Submission — UXgd
Servitude — W Subjugation — ¢HT

Ques 88. ANS (D) Solution: JURISK fdsbedl # W fdbed (d)
courtious aﬁaﬁ‘ﬁm% 3{d: sﬂaﬁmaﬂﬁ courteous
(faTe) I 3= faahed &t Id-t Y& © | Glorious — TRET
Conscious — I9d Vicious — QMR

Ques 89. ANS (A) Solution: IWRIad aTd P IGifbd HRT want
& I W wants &1 TINT G RN SIF &I Noun 'as well as',
with 'together with, 'along with', besides, in addition to' E:I'El
@W@“—ﬁ\_{ﬁﬁ?ﬁverb WCIB?[ 3 T Noun%W
UQEHE?IHT%I 3(d: a1 ¥ The prime minister singular%
Eﬂﬁﬂ Singular verb (wants) T TN B-T"ITI Correct Sentence-
The Prime Minister as well as his ministers wants peace in the
country.

Ques 90. ANS (B) Solution: IWRIad a1 H worked so
hardly% RIF | worked so hard T YaIT 8T &l hardly
Negative sense Iargl hardly — E[W ¥, hard-®f& Correct
Sentence — He worked so hard that he won the dance
competition.

Ques 91. ANS (D) Solution: JTRIdd Passage% UG & SR
& ®IF (4) d Dying (FRd §T) &1 TN IUgad BT 3=
fawey o Hﬁéﬁ%l Correct Sentence-........ Jeanette was
dying so | stole to buy her food.

Ques 92. ANS (A) Solution: Commence — 3R™ DHRAT
Antonym ® Conclude— JHTW HRAT 3= fawed & o Begin
— X} Arise — 331 Launch — G&YU

Ques 93. ANS (D) Solution: Excerpt — 3algRUl, Synonym —
Extract — 3&T8RUI &1 317 faded! & 312 Abstract — IR Blurb
— TG94 Anterval — AR

Ques 94. ANS (D) Solution: IWIad Group of words 'The
sound made by crocodile' %ﬁm one word fd®eg (d) Bellow
(@Ra) Iugad gRTT | 31 fdaed! & 31— Growl - Sound made
By Bears Screech — Sound made By Bat Trumpet — Sound
made By Elephant

Ques 95. ANS (B) Solution:

Ques 96. ANS (A) Solution: JIWIE idiom 'To rub salt in
someone's worse' (GI@TWW%SWFIT) & mﬁaﬁq (a) 'To
make a bad or painful situation worse' 3Ugdd URSHAT Dl gl
3 fadhen firr arf 3A B

Ques 97. ANS (D) Solution: JURISK TR H will water & I
WR water &1 YT GRT FI if, unless, in case, whether,
provided etc Tt clause & will/shall a1 fd=it off modal
auxiliary verb &1 ST T8l 81T 81 Correct sentence — The

plant will die unless you water it every day.




Ques 98. ANS (C) Solution: JURIaT group of words 'sound
reflected back as in mountains' aﬂ%«m one word fd®eg (c)
Echo (Wifaeaf) Iugad g o4 faded & 31 Eclipse— T&0T
Eclair - U UHR Hh Ebony — AHTdTH

Ques 99. ANS (B) Solution: JURIGK dTeRI & X@ifdbd HIT
prayed at & YA R pray to &Il T BT s pray & Y
preposition (to)ﬁﬂlﬂﬂaﬁ'{ %I Correct Sentence-We must
Pray to the Almighty for the well-being of all family
members.

Ques 100. ANS (C) Solution: JURIG a1 H the child was
happy % I IR the child would happy T YaRT g1 Fifd
IR conditional 8§ 3R if ATel clause & were T TRANT A @'\Pf
clause T would ST UG 81T 81 If + subject + were ----------
subject + would Correst sentence — If he were to climb the
tree and bring the kitty down the child would happy

Ques 101. ANS (C) Solution:

Ques 102. ANS (A) Solution:

Ques 103. ANS (C) Solution:

Ques 104. ANS (D) Solution:

Ques 105. ANS (A) Solution:

Ques 106. ANS (D) Solution:

Ques 107. ANS (D) Solution:

Ques 108. ANS (B) Solution:

Ques 109. ANS (A) Solution:

Ques 110. ANS (C) Solution:

Ques 111. ANS (D) Solution:

Ques 112. ANS (B) Solution:

Ques 113. ANS (B) Solution:

Ques 114. ANS (B) Solution:

Ques 115. ANS (D) Solution:

Ques 116. ANS (D) Solution:

Ques 117. ANS (A) Solution:

Ques 118. ANS (D) Solution:

Ques 119. ANS (B) Solution:

Ques 120. ANS (A) Solution:

Ques 121. ANS (C) Solution:

T8 aTe (1926) = Yo [GaR UfshdT &I IR =01 &
Fiiepd fasar:

Jart: 3T TReur 3R I F A1end A g A & o U
U & TR H AFBRI ThH HRAT, AN IHT I TG
H1 3R Tt e femat & S e i g
Iwa: Ig U il ufcha &, Fore safekt 3reid 81 Sl & $fR
T 1 SR ¢ | 9 °R0T B, Afad TS BRI a1
3 YT B YT ST & 3R BT Bl GHTE &7 ¥ e B
TEIU: I8 98 ORUI § Od o Tad Sifies Wik SR T
BT 81 S RUTH ¢ AT & SR H TP e D 3@HS Syd
B Il § TR T 71 IR a1 [HTe T M7 B
TATG: 39 TROT H U A& P SISHR I gedhR AT FIHR
fsd =R § g gaTy™ B e i 8 9dd & U
3iferm TETYH arafdedr § far ar w31 afg gEem w
FHTYF A T 81T &, o O ufehar bl SR Sl g1

Graham Wallas (1926) outlined the creative thinking process

into four stages:

Preparation: It involves collecting information regarding a
problem in order to solve it through trial and error, recalling
personal experiences, and investigating in all possible

directions.

Incubation: It is a slow process in which the individual sinks
into the unconscious and reflects on the problem. In this
stage, individuals forget irrelevant information or
unsuccessful attempts and engage with the task effectively.
lllumination: It is the stage the individual is most active and
conscious. It is in this stage that an insight to the problem is
experienced suddenly and a new idea or solution emerges.
Verification: This stage might involve modifications to the
solution reached in the previous stage by adding or
subtracting, or making new connections. The final solution
achieved is tested in reality. If the solution does not apply to
the problem then the whole process is repeated.

Ques 122. ANS (B) Solution:

I I FeUsdH 9T § fob Qe Fifas™ 1 Teiy Riamelf
! g, IRa- 31 ufohan ok ¥ &t R I 7

Rremeff (aiftrmaasa): fRamff @i aal & 9ed agayuf g, 7
Fad s fos AR Ufcharelt a1 Rufadt ¥ 31 Heayul &,
sfep goT & A g ot i Ramelf & fomr o1 siftre e
giell 81

SRR Ufera: ST ufshan § gRT 31 § fob &9 @l Wi &
T IR HA 1 I o 'FRd & H 98 FdeR A ¢ S Jaed
FY Y ¢TI 5] &, SR o GHeT, WieI, 316 3@ 3R
TEAT, AT € 98 SIagR 3 T U § ST off Gehall 8,
S fTeT, TTOMHT =1, U AT STR 1 AT

ST IRFRYTS: T8 39 aTaTaRvl 1 i P § forad
R1emelf T Y T B, SR Rored sifrT uftsar St 71 g
HRE 1 A & ot RIgmf iR siftemm wfosan &1 wafaa
FRA & | TP acd TR & 3R GERT e fIUN (@geaR,
TR, TR IR Tiel BT IR, 3R 37) g

Henry Clay Lindgren points out that educational psychology
is concerned with understanding the learner, the learning

process, and the learning situation.

The Learner: The learner is the most important of the three
elements, not only because people are more important than
processes or situations but also primarily because without
the learner, there is no learning.

The Learning Process: By learning process, we mean
whatever people do when they learn. What they 'do’ includes
behavior that is not directly observable, such as perceiving,
thinking, remembering, and identifying; as well as the
behavior that can be directly observed, such as writing,
computing, attending, and talking.

The Learning Situation: It refers to the environment in which
the learner finds himself/herself, and in which the learning
process takes place. It includes factors or conditions that
affect the learner and the learning process. The teacher is
one element and another is the classroom setting
(ventilation, light, noise and arrangement of seats, and so
on).

Ques 123. ANS (B) Solution:

o &3 H, f=R 3o UReRe Hae & ggd IR uRacd-i
Y ToRd § 3R 3 TH1eT 3R 9% fafqy gural o) of wogm
UK

TRl & forw R @) B3 T sgd & wgayut fidr &1 faw
9 Il § | Uh IUGa ST BT ST TTHT &R T [hR &




R @) fufa gidt 3, safe 3 Aegd od § & uds afda
3% 4@ Y@ § 3R d 994 81 9 3

THh YehH! THg & Uh AlD 0T I & U T UgdHT ol
TP HE@yUl PR PI3TaRgehdl gl 8|

PR 3R 3T ATaT-faT 3R SSf & 1Y 989 | US oId &
s d 3= R0 & S1erT g1 aTed 5 |
fpeR i 30 THE & SflyR W TS & IR # Ay, 39,
ZDBITT 3R T BT U BT L& B 2 B

In the social sphere, adolescents undergo a lot of changes in
their interpersonal relationships and they also begin to
understand society and its diverse influences.

Body image becomes a very important concern for
adolescents. Having an appropriate figure is almost a
teenage obsession so feel that everybody is looking at them
and they become conscious.

Being recognized as a popular member of a peer group is an
important adolescent need.

Adolescents often get into arguments with their parents and
elders since they want to break away from their control.
Adolescents also begin to acquire beliefs, opinions, attitudes,
and stereotypes about a society based on their
understanding.

Ques 124. ANS (D) Solution:

UG, TTHTIOIES 3R Q& TE) ard a2t bt Hag avH &
o W a HeaTAe Qe yomeh & sidvia F1f v €1 e
AR 1 e Hiar-fudT, et $iR BE1 & a1 e th
TR 3fATH P HIGI DY SQ1aT ST & Off Sl B ST arai
WR & Hid BT 3

AR & faft TRMYSGd: WRemalG, TRefee FAIGH,
YhRide, TAERAIE, 3R AL 390 q & & A
afkif foram mar 3

UREAAIG: IRTAIE & TR TG S URUTH 39 UHR
- A SreArlerr & Areny A YA d 9% WHR
A4 AR &1 [ARAIeTd e gl

TRgmare, s § Rfid U Fafid siigiad & Th 3=
faafd st e TRifaw™ & ¥U & T o 9o &, ford
TSTS SISl CaR & HH R 30 sifcH siRe! & #
qxifar T ATl 1898 H, U TPV Bl GERT T 31elT B B
forg, feemR 71 A Tee IS a1 ¥ReTare 914 fear
WREETE A 39 910 W SR a1 6 A1 srgde™ ot
fawer a¥g 7 o, f9aR SiR Wraemd =nfir §, St I &t TR
&1 (A0 67 910 ed § | TReTaIC! BT e I 3ebrsal, Al
Tl DI GIoHT YT, St AR BT A0 v g
TFIaTG & FyfaRad Igxa &

AT & ITH! B Gd @l & =9 H JUH AT

Ig quiF = & for % 39 g dcdl 1 ol ST offl 5|

T & d@l b diABT oF (37U, ARG Ufsharst) & daiy B
YRHAT HRATI

T UHR, T & IRAAAIG o d BT AT o fob Aifag=
1 Sferd fawg <=1 &t Al BT e BT Ul

School psychologists work within the educational system to

help children with emotional, social, and academic issues.
The goal of school psychology is to collaborate with parents,
teachers, and students to promote a healthy learning
environment that focuses on the needs of children.

Various early schools of thought: Structuralism, Gestalt
Psychology, Functionalism, Behaviourism, and
Psychoanalysis. some of them are defined below:
Structuralism: The definition of psychology, according to
structuralism is as follows - “psychology is the analytic study
of the generalized adult normal human mind through
introspection.”

Structuralism, a systematic movement founded in Germany,
can be thought of as a highly developed introspective
psychology, which was represented in its final American form
by the work of Edward Bradford Titchener. In 1898, to
differentiate his perspective from the others, Titchener came
up with the name structural psychology or structuralism
Structuralism emphasised that the subject matter of
psychological research consists of images, thoughts, and
feelings, which are the elements, forming the structure of
consciousness. The goal of the structuralists was to find the
units, or elements, which make up the mind.

Structuralism had the following aims:

To describe the components of consciousness in terms of
basic elements.

To describe how these basic elements are combined.

To explain the connections of the elements of consciousness
to the nervous system (i.e., physical processes).

Thus, the Structuralism School of psychology believed that
the proper subject matter of psychology was the study of the
contents of consciousness.

Ques 125. ANS (A) Solution:

IR IERT O W, Yelgdll, ST 3R SHICH B
SITH T I Y1 TTT IR T & SIR T IS Ie=d 3
NEIRIERERGES

IUAts &1 arqd forelt ST BT U B a1 ORT A B
SA=IHAT SR 34 TN ST e 4 B

TGl BT AT 2§ {3 STa=adhar 3iR gaRi &I TganT
A

i IR B! FEfd HRA 3R Ui B, Wfdd U & a1
FS T B B ATl S fad B aa=ielt R ASTgd
Teqd HRId B

THTHHAT J AT gOR ¥ TS 3R agar o, = foam ar
3URTSE HE1 AT SUGTH A U

fheit Bt THw A1 SR 8 IR G-I B HGG BT GIR| Bi
SIS XA P SIITHT Bl € TS0 Bl § |

Social motives such as the need for power, affiliation,
achievement, and approval are learned motives and involve
other people.

Achievement refers to the need to achieve or accomplish a
task and surpass other people.

Affiliation implies the need to make friends and seek
cooperation with others.

Power is the need to control and influence others, to gain
power, or do something that makes a person feel powerful
and strong.

Aggression refers to the need to fight and take revenge, to
belittle or curse or ridicule the other.

Nurturance is the need to take care of others and help others
when they are in a problem or are sick.




Ques 126. ANS (D) Solution:

3 GRS # e 1 U1 geaTSll SR SFaER TR U
ERELERIE]

U A PI ou ermraradt SR ATeit & IR # 1 BT 5
38! FHTAS UfchdT #, T8 Y8 aRE F IRafdeal )R AR
FAT G

T STHTE BT T WR gl 5

33T GHTANST 7 & T el B

3 g B wfdd § ufdga uRfRufaal § Sgm & emar
gl 81

3T GRS Ua Tfasie ufohan gl

33T FHIANST fek] 1 AR [aR] & chvid 9 ST g |
ST GRS T BT S X8 ST 3

3 GG § JHfaR S0 Soll START B IR a8 Hal
gl

ST &1 P8 T & fo Fewaqul Tafa @rer @ Sfgf
3 TR P faRvar e R

In good adjustment, a person has their own control over his
wishes and behavior.

This person has awareness of one's own strengths and
limitations.

In good adjustment process, fully depends on reality.

In this the level of Aspiration is adequate.

Good adjustment gives satisfaction to the mind.

In good Adjustment, the person has the capabilities of
struggling with unfavorable circumstances.

Good Adjustment is a dynamic process.

Good Adjustment escapes the person from mental thoughts
collisions.

Good adjustment gives a new way of progress.

By Good adjustment, a person spends his energy on useful
work.

Hence we can say that a Critical fault-finding attitude is not
characteristic of good adjustment.

Ques 127. ANS (B) Solution:

AERAIG: 3D R, HTUTH T I Y- 3fehar s a1
TIETd &1 ITE 8 SN SR SE1U-! b Udh $Raalm 3R giRomt
3feranat Bt TRfA & HRUTEIAT 81 PHad T AR e F
e I et 1 srgferar T Ay SEiue | St S B
e ST &1 Ufehan § s YT Tt AU g1
HIGRAIE ERHIV 1 F1a H B3 RAGIddRI gRT STl Bt
TS, S A 3 o aafad fRufa &) 9o &0 9 993 8, 8iR
I R4 37 UROM W SR g

Trgadare U Riaid g [ Sfea amiie ufean, o9 & fiae,
i 3R W, faaRY & ofe nfdd weanf sRaamsit gr ot
WE I g U ¥ AT o Gl 5|

ALY, AFRYS fIbRI & IU=R 61 T fafd,
HRIfIRAYOTEeS Rigid gRT STHR & 7T 3, S 3&iad Ak
Tt R SR 3eft 7 9R 8 Foft-ft e TR % w Y
¥ aftfe foram S B

Behaviorism: According to it, learning is the product of a

stimulus-response bond or association that takes place due
to the presentation of a series of discrete stimuli and the
resulting responses. Learners’ response is linked to a
particular stimulus through mere trial and error. Insight plays
no role in the learning process. The behaviorist perspective

was later on criticized by many theorists, who believed that
individuals perceive the situation as a whole, and their
learning is based on this perception.

Associationism is the theory that complex mental processes,
such as thinking, learning, and memory, can be wholly or
mainly explained by the associative links formed between
ideas.

Psychoanalysis, a method of treating mental disorders, is
shaped by psychoanalytic theory, which emphasizes
unconscious mental processes and is sometimes described as
depth psychology.

Ques 128. ANS (A) Solution:

TS GRT G D T HIGI3T &1 &l e AR § fauiiord
T3 S AT § SR THRIAD 3R AGRIHS UG FHga!
gl

WTaTST & Irexun # Fuffad it § v, 3@, 39,
T, gergyfa, foran, forsman, iy, fagig, Sem, o |

faferay AFSiTa &t Ura sl 1 SIGURUN & SR, T &R
WIGHTY T T8 U Al

AHSITA A 49 IR M YGRrdl & 1Y dieg Tgrdl Hi
Tltes a2

3T Bl ¢ [ Teol gl Bt U THH UG &It |

Emotions expressed by humans can be divided into two

broad categories and are called positive and negative
emotions.

Examples of emotions include the following: Interest,
enthusiasm, boredom, laughter, empathy, action, curiosity,
anger, rebellion, irritation, etc.

According to William McDougall's concept of emotions
instincts and emotions were both innate patterns.
McDougall lists fourteen instincts together with 49 four
general tendencies.

He says that easy instinct has a corresponding emotion.
Ques 129. ANS (D) Solution:

3faeiieh:

3fqaien & forg HeaT-e B! fheh +ft urepfaes fufa & aofda
& T, Sfe-fafid sagR &1 e s g 3

g ifdad fasr & forg Jed quTd Hedich STl g |
aei I e foret et oY e I 3 @1 o 9 7
Sraaiie faf # Rieres fenfidt & w1y 7% fdd@, FaER
3R ST eht 1 e H7 & forg fafafat & wm 3 g1
d ARdeh SBRI Ut B b o1T BN o 1Y FHTE! &1
e e & forg I ary Asfiguf ey =ifid #a B

3 BT 1 U8 UGHN el 81 &d & [ ST Sfaeiiep a1 St
TG & SR B WIHIfds U I 1 v § o onerds
NERIGERGIE.

3 BE! W YR, o s, == ra 3R AfaarTd Stk 9o
FY ¥ FIgR $Rd U M0 a3 § SR SRt & sradid
fored g1

31d: I8 WF & [ siacia gR1 Afddd & b & ord
gl H SiferT o gavar g1

Observation:

Observation requires the psychologist to observe the client
while engaged in ordinary, daily-routine behavior, in any
natural setting.

It is the most effective assessment tool for personality




development. Observation refers to the act of observing
something carefully.

In the observation method, teachers participate in activities
with students to observe their personality, behavior, and
learning style.

They establish friendly relationships with students to observe
them effectively to get realistic information.

They don't let the students realize that they are under
observation that's why students act naturally which leads to
qualitative observation.

They observe students while asking, drawing, discussing, and
behaving individually as well as in groups and write the
observation in the diary.

Hence, it is clear that many aspects of the development of
the personality can be observed by observation.

Ques 130. ANS (B) Solution:

CCE % WG a- 3T Jeidh &1 Tgfid & g, forad s
% 9o ¥ 4efid woa &1 Tiafafa & gt usgsi & wnfta
fohar w1 ¥ | T8 SaTue adies & i % URuTTHY & Hedic
3R 3T B FRaRaT S &) AT Ie=aT R 9 a1 3

Tg e & Tt & A WS, YTaTeTd SR
TR &5 Bl e e B

I WAl Bl U fApTaIeTe Ufshal & U H A 5 |

CCE ¥, B & e 3R wg-Rfa iafafral < & vaxi=
@1 SHTH T f3aT ST B

CCE F1 Ie=d BHI R UIGT9d! & SRR B HH HAT 3R
Sl UHR S Tafafdl § S & UGk & Teid- & o1ed ¥
B BT THY AT 3R BRI H YR HRAT |

U UBR, g shY FeTen 911 & b 9ad samae Jeaid=
Qe 3R Tg-Wferep & B 3P gl

CCE refers to a school-based evaluation, which covers all

aspects of school activities related to a child’s development.
It emphasizes two-fold objectives such as continuity of
evaluation and assessment of learning outcomes in a
comprehensive manner.

It covers all the domains of learning i.e. cognitive, affective,
and psychomotor domains.

It treats evaluation as a developmental process.

In CCE, students’ performance in both scholastic and co-
scholastic activities is assessed.

CCE aims to reduce the curricular workload on students and
to improve the overall abilities and skills of students by
means of evaluation of students' performance in both types
of activities.

Thus, it is concluded that Continuous Comprehensive
Evaluation is the assessment of scholastic and co- scholastic
areas.

Ques 131. ANS (B) Solution:

Heredity is the genetic information passing for traits from
parents to their offspring, either through a sexual
reproduction or sexual reproduction . This is the process by
which an offspring cell or organism acquires of becomes pre
- disposed to the characteristics of its parent cell or
organism.

TR T ATT-faT § I 921 & o a1 o 9 ol o
I TS & A1 I g aTalt SafRIs THeRI 81 I8 Th

Tt ufehar & o gRT T TaH HIRIeT a1 oid 3o gd
arar-far a1 offa ot faRivarstt & foe gd fAxaia 8 S g1
Ques 132. ANS (C) Solution:

Child Psychology is a specialised brach of traditional
psychology that focuses on children, mainly their
development and behaviour. This type of psychology
typically covers ever child , from birth to adolescence.

TS FAITA URURS HAIGRH 1 T fafR1e 1 § S st
R FHfad B, T I9 fab 3R TTER W | T UPR &
A H AR W T B 9 F AR (BRI TP
RUIERAEIESI I

Ques 133. ANS (B) Solution: The National Literacy mission is
nationwide programme started by Government of India in
1988 . It aims to educate 80 million adults in the age group
of 15-35 over an eighty years period.

Ques 134. ANS (A) Solution:

Motivation is literally the desire to do things. It is a
theoretical construct used to explain behaviours. It give the
reason for people's action, desires and needs. it is the crucial
element in setting and attaining goals.

SR e ] B B Y T 21 TR U At Fwior
forTopT SUTRT HAGRI B THA & T foban STl 51 I it
B HRATS, T SR TR HT BRI AT 8 | T8 AN B
R B3 3R U B § gyl dd |

Ques 135. ANS (C) Solution:

The causes for the individual difference in students are its
heredity and different family background. Every child born
with its gene transferred from their parents and it will show
the behaviour of their own. Family also an important part
which teachers a child.

BET T MG SR BT HRUN ST ST RrewdT IR Al
IRaRS gEYH 81 3= S & W1y U1 g4 aTel s o=
370 AT A RIMTIRE BT & 3R U8 31U WY & FHdBR
! fe@mem| uRaR ot U meayyf fewar § o U o=
e FRaT B

Ques 136. ANS (C) Solution:

Being a teacher, the role in meeting the difference first of all
try to know the abilities, capacities, interest and aptitude of
the pupils and then try to adjust the curriculum as per needs
of individual so that he / she can able to understand the
lesson.

T RIed 81 & 1d, Ta U5 SR Bl QT =l § YfAap
faenffat o emarstt, emaret, $fa SR Igdr HI A B
DI R 3§ 3R B e 1 Sevdll B TR UTSushH
! JURIO B BT T P! © dMih 98 U16 B I o
GEH g1 WD | |

Ques 137. ANS (C) Solution:

If anyone makes wrong use of tense, being a teacher you can

help her by taking up many examples for the entire class and
paying special attention to Monica.

3R $13 HI T1d BT TTed SHIHTS HRall &, ol U R 8H &
T 3T G HET & oY F8 IaTER0T v 3R HifAesT IR fagy
I TR ID| HGG PR Id o

Ques 138. ANS (B) Solution:

A computer can never replace a teacher because first
computers are just tools / aids in learning . It has limitation.




There are still questions that cannot be answered by a
computer. It cannot be used when the power or signal is
used.

& HR T g $ Hot 78 saat Foe i v
FeeR Te H Rith SUSHRU1 / I8P B § | $UP! ST B
3ot o1t T U9 § AT SR HeR gRT T & S 9aha 3
BT SN T g1 o S Tl Siel forstedt a1 Rywrdd &1
ST {3 ST B

Ques 139. ANS (D) Solution:

If any student pass a remark on any teacher, he should avoid
punishing that child. Teacher should avoid always be
impartial when he is evaluating test copies of that student.
Whatever wrong the has done cannot be punished by
spoiling his test copies by evaluating that test copies

partially.

afe ®1g +f o il ot e R fewoft axar 8, A1 39 39
= B ¢fed B F Fa1 A1fen| e &I gaRm fwe g
PTI98 39 BH DI GI&0T Ufard! T Teidhd B 361 8l
N pw ot TTerd o T 8, I udterur i o1 Siflie U d
T B ST URIE0T Ufad! &1 WIS HReb ofSd gl
o S w3

Ques 140. ANS (B) Solution:

Life skills have defined as the abilities for adaptive and
positive behaviour that enable individual to deal effectively
with the demand and challenges of everyday life. WHO
Acquisition of life skills is part of social process, it is directly
mounted and it can be learnt at any stage of the life.

e IS 7 SIHel 3R SRS TIGR DI & &
&U # gRHING fova & S s 1 JSreRT 1 foigat &1 A
IR At F gt & & Fues & Ter SaT 81 Ssgumah
e HIRTd BT ST Ao Uisha &1 few &, I8 e
YSUAR § 3R U ofiad & fpelt ot Tror & Wkar o 9ol gl
Ques 141. ANS (D) Solution:

Froebel presented the theory of play way in kindergarten,
Maria in concept of divergent thinking presented the
Montessori education of the children. Co -operative learning
was the concept given by Keller.

Wiad A fhSTTea # Wd & i o1 uxga fopar, A 4
fqaTerge I &1 SfaURUN § o= & Hicwr) e vRgd &1
SHlATRICT AT, HeR gRI Al T8 Srayron |

Ques 142. ANS (B) Solution:

If any teacher in the class asks a question and student while
responding gives partially correct response then , teacher
should provide reinforcement to encourage him to recall the
complete correct response of that question.

e e B P13 o e Us gl & 3R SaTe S T S
3R =U ¥ TE ufaferar <ar 8, af Riered & 39 Uy @) guf
el ufdfhar a1g B & fow I TR o & farg
YEGIHhRUl YaH Sl AUl

Ques 143. ANS (A) Solution:

Herman Ebbinghaus was a German Psychologist, who

pioneered the experiment study of memory he is known for
his discovery of the forgetting curve and the spacing effect.
he was also the first person to describe the learning curve.

A UfTET U e w9, e wfa % wan
ST BT S1ST ISMT T, T a8 e Bt SaT 3R Rfda

THTG S WISl & oL ST Il § | 98 TReH a1l aoh 1 qui
@3 dTel Ugel oafert i 41

Ques 144. ANS (A) Solution:

Fluid intelligence is defined as the ability to solve new
problems, use logic in new situation and identify patterns.
%3 §fG B 75 THWIS BT g0 XA, 15 U T 9% BT IUANT
P SR UcH B UGdH HRA B! & & FU H IR fosar
TR

Ques 145. ANS (D) Solution:

In Psychology, a projective test is a personality test designed
to let a person respond to ambiguous stimuli, presumably
revealing hidden emotions and internal conflicts projected by
the person into test.

HAIART H, T YA TRi&i0] Ueb ofaicd U1 & ford fapelt
fdd BT SRGY a1 BT SId1d S & forg fEuirs fear
ST &, Fyad: fodh g8 urammsit 3R siiafie ol o1 uiteror
EZSEINK CR AN LA RIS I G

Ques 146. ANS (A) Solution:

The stage of infancy is between 0 - 2 years. The term infant is

typically applied to young children.
QARATARIT BT SHTRIT 0 ¥ 2 T & ot gl | FRIR] Xeg STHAR

R B Tl W AN T ST B

Ques 147. ANS (B) Solution:

At birth head makes 20% of body length.

S & THY R TRR &1 @18 BT 20% T3 |

Ques 148. ANS (A) Solution:

Socialisation is learning to participate in social roles. It refers
to the way the people learn the habits, attitudes, self -
conception, group norms and universes of discourse that
enable them to interact with other people in their societ and
to enact different social roles.

TSR] ATHTfords ATt & YR o1 U Y81 81 98 39
Wb D HaHfd B 8 org ave A o e, 2P, @-
T, T8 AMCS! R Yae & Seiiel & URad § off 35
3O AT § 3= NIl & AT ST e IR f3fire o
YftyepTai & N B H Fard 1 g1

Ques 149. ANS (C) Solution:

Intelligence can be defined as a person's cognitive ability to

learn. It is also associated with school performance, 1Q, logic
, abstract thought , self - awareness, emotional knowledge,
memory, planning, creativity and problem solving.

ST DI WG BT Afad B YIS &l & 9 J
RIS foraT o el 8| 98 Wd & SR, SSay, ad, SATd
fIaR, T SIRE&T, HIaHTHS 1, |, JISHT, JaTe
3R T Ty  off ST gen Bl

Ques 150. ANS (D) Solution:

Gender difference, social recognition and family factor are

affects the personal wrights of girls.

foIT 3R, AT AT 3R UTRAIR® PRSP Tsfhal bl
AT TSTS B THIAd B B

Ques 151. ANS (C) Solution:

Intrinsic motivation is defined as performing an a action or
behaviour because people enjoy the activity itself. The
inspiration for acting on intrinsic motivation can be found in
the action itself.




iR URUM &1 Ueb bl I UdgR HRA & U H GRHINA
o ST & Riifes T T afafy @7 aig T B 1 siiae
TRUM TR ST A ST IR0 W foban & it ol g1

Ques 152. ANS (C) Solution:

Behaviourism is an approach to psychology and learning that
emphasises observable measurable behaviours. The
behaviourist theory of human and animal learning focuses
only on objectively observable behaviours and discounts
mental activists.

HIERATE FAIGHH 3R TRen & o e eRa I g ot
AT T 3T & BT FTER W AR a1 3| AT 3R g
Yo &1 FagRare! Rigid Fad IEIYl Sddidh TIER
3R B AFRYS Sridbdrel W Hiad 21

Ques 153. ANS (B) Solution:

Students learn more from teacher one who communicate his
ideas precisely and clearly because student can understand it
more quickly and efficiently, if the lesson is taught in a
proper why.

B e ¥ 3ifire Wad § & 3o faaRi &1 ¥cia Sik Wy
U Y HaIE HId & Hiih O 34 3R 3 ol I ok

P Y IHY Thdl 8, TR TaH I aRih I Tl Al
gl

Ques 154. ANS (C) Solution:

In the class, if a student is continuously rubbing his eyes and
and is inattentive during blackboard work , he is having .
visual problem. So, he is unable to see anything which is
written on the blackboard.

Fe H, M IS B AR SO+ i I 37 @7 7 3R
SHES & P P GRM @AY B, Tl I8 PR 61 5| T
TN 3UMY, 98 $© it Tam § erqm § S sidpals W
foran T g

Ques 155. ANS (A) Solution:

Aggressive behaviour can cause physical or emotional harm
to others. It may range fro verbal abuse to physical abuse. It
can also involve harming personal property.

3{TShTHE TER R bl ARINeD T HIGTHD Jha Ugdl
THAl 5| THH ARING 90T & g A Hifes gouanT &l
Fha1 31 G st Uiy & e ugan +f e 8 geba
gl

Ques 156. ANS (B) Solution:

The term 'curriculum’ in the field of education refers to
overall programmes of the school which students experience
on a day - to - day basis . It is the means and material with
which students will interact for the purpose of achieving
identified educational outcomes.

& & &7 & 'UTeuh ' et Whd & Y HRIGH! Bl Hafid
HAT 3 Sl B B! TP 7 T TP 37 & YR W 3w gl
B U8 WY SR 9 § o 91y B UgaH U U Qe
TRUMH} &1 U 61 & 33T I It Hel|

Ques 157. ANS (A) Solution:

A hypothesis is used in a experiment to define the
relationship between two variables. The purpose of a
hypothesis is to find the answer of a questions. A formalised
hypothesis will force us to think about what result will we
should look for an experiment.

T GRS BT IUANT &l TR & sid oY DI URHTNT P &
fere Tep v  foa ST B 1 T uRE o1 31 I5=a Ul &1
IR WISHT B | T MU= UReEeT g8 I8 Wie & fag
TR SN b g6 U & fore @ aRom e anfeu|

Ques 158. ANS (B) Solution:

Motor learning is when complex processes in the brain occur
in response to practice or experience of a certain skill
resulting in changes in the central nervous system that allow
for production of a new motor skill.

Hiex TRe 79 Bid1 ¢ S AR # wifed ufshang ueb FHida
DI P AW AT 3IHT B ufdfspar § gt € g
URUMTRGEY $H41g AT df § uikadH gidT § ol U ¢ Hiex
DI b IS BT 3T T B

Ques 159. ANS (C) Solution:

Dyslexia is a specific learning disablity in reading. Pupils have
trouble in reading accurately and fluently.

fewifaaar ugn # Ue faRke IRas &1 s ¢ | S &1 gl
3R YRIATE Ug & TR §cht 2

Ques 160. ANS (C) Solution: If any student asks question in
the class it means he is engaged with the subject matter
taught in the class. Questioning by students in class is
considered as a sign of motivated learning. g DIS T BT
T Uy YT § o 3BT Haqd ¢ fob a8 Hel § UeTd o arel
T & T o1 g1 B 1 Hem W ST gRT U B Uik fRreqor
1 e AFT ST |

Ques 161. ANS (D) Solution:

el H I T4 WO Ui e & e Qaifire
faw-aq, ifiep uvTdh fRiaror d i fafer, siftrmaepdl &
IHTES (TR BT HIIRS S F TS adT s
Sfaforarerd Qe TRl Juds TR gU I7 U TEel
BT FUIARUT R BT AR Y Bl B

Information and Communication Technology in schools

provides teachers with the opportunity to transform their
practices by providing them with better educational content,
more effective teaching and learning methods, which help in
stimulating the cognitive thoughts of the learners and
provide them with more interactive educational materials. Is.
Ques 162. ANS (D) Solution:

YRd H Rien & fafird Wi & fore qoraanyf fefrea fava—gat
IR B o T WRA WPR gRI B! T Ugd # e it &-
(i) TTeTd- Fat o e & g YR RBR &1 (.3 Tied (i)
TR & 90 TR JgaR e S g HrRish (jii) dha
3R SffeTe fRiamn & fore Aeciifsan Yerfires e (v) 3-
uraRITa S faeer e ok Riera g & @it TRl )
f$fored g I 1 T 1Y SUANT|

Initiatives taken by the Government of India to create quality
digital content for various levels of education in India include
— (i) Sakshat — a free portal of the Government of India for
holistic education (ii) Powered by technology National
Program on Better Learning (iii) Multimedia educational
resources for learning and online teaching (iv) E-Pathshala
which is the simultaneous use of digital enabled resources at
all levels of school education and teacher education.

Ques 163. ANS (A) Solution:

faeprasiia <= & forg ams &), ¥ 32 w=f & forw R egua
DI TSI S P JWIT § ST ATHIOT 3R qR-aR1eT & R A




T5d 71 i famro=ie St o v qr—a=Tel & & 7 sy
e &1 ug 7 F IR 8, T R & s A & wrem
I forg e Suersy R o Wevel 7

ICT for developing countries It has the potential to enhance
the educational experience for children who live in rural and
remote locations. Since in developing countries, access to
modern education is almost negligible in remote areas, in
such a situation ICT is essential. Education can be made
available to them through this.

Ques 164. ANS (A) Solution:

T fRIfarpT 31U BT A Iy H gl i U137 &b IR H
AR Ue & e wgdl 81 ik 3 o) geai &l faft
g yonferdt ® aifpd v & forg et ofra 31 39 fRreqor
TR BT IR UHR0T B! GHAHT & | T fafafira & fammff
Y a1 PP ST T B & Fore 31T SATH R
BT & SR STH Il H 9T gia 5

A teacher asks her students to read news about recent events
in the state. Students are then asked to classify the events
into different 'systems of governance'. The purpose of this
learning activity is to explain the topic. Through such
activities, students gain experience by doing the activities
themselves, which makes their learning permanent and
develops their creativity.

Ques 165. ANS (D) Solution:
fRramamet wTet Riaror &1 fawr 81 Riaror & 1 wfohan 1
faferad srera Ruamamd a1 Riererd Heerd 8| 394
eATO T Rieht a1 vl 1 st fpam < B

Pedagogy is the science of effective teaching. The systematic
study of the process of teaching is called pedagogy or
pedagogy. In this, the style or policies of teaching are
studied.

Ques 166. ANS (A) Solution:

T q gd BT TR BT IuANT favg 7 Rremdf & Sy o)
iifed = & fog fosar ST 8 | SRiifd I8 TRUT S1erd Bl
G 3 forg IR srar g1

The pre-listening stage is used to stimulate the learner's
interest in the topic. Because this stage motivates the child to
listen.

Ques 167. ANS (C) Solution:

GRT (Attitude) F T T T B 8- (1) IH-ATGRY I
R R 8, S aifdhes 3R b Trd 81 (1) HraTd-3ifgfyat
BRI HTaT{T/AdeTsif ¥ Syd gt B (111) TIgR-Td8R
TR BT UTI3H BT 312 3R TAGRI HT T | g Hl
gl

Attitude has three main components — (I) Knowledge —
Attitude is dependent on knowledge, which is logical and
rational. (Il) Emotions — Attitudes are always awakened by
feelings/sensations. (lll) Behavior — Behavior helps in
understanding the meaning of feelings and behaviors of
others.

Ques 168. ANS (B) Solution:

- FRTIHfA’ T8 TE! SIS el © | HaTee (T IR
— T Y YT HRAT| T (R DHIIe) — JHeT b1
FHTY ST, 0 11 WIS BRI —

SHTHANRED /SHTEIH, WY, et TR |

‘Thinking — Sympathy' is not a correct combination.
Emotional (general skills) — coping with stress. Thinking
(thinking skills) — solving problems, taking decisions. Social
Skills — Self-aware/enlightenment, empathy, effective
communication.

Ques 169. ANS (A) Solution:

Piga! & Afaw BT & TR B QR HRA aTdl USTIHH
TH PR HHGUS U, Dlgaat &1 Hadd dT fos AT ugd & aRon
o U e P el BId ©, Al I L, ATUP G A
THIHd HRA § Blgat A aaar g & e & Afaw e
T TR STt F Gl 7o § 3R Ud® TR &I al-al
SARITE 3| Plgaad = g8 Hl Iam & [ 39 srawusfi &1 %0
FIESKEIN

By the hierarchical integration criteria that meet Kohlberg's

stages of moral development, Kohlberg meant that people
do not lose the insights gained in earlier stages, but integrate
them into a new, broader framework. Kohlberg explained
that the individual has moral Development passes through
three main stages and each level has two stages. Kohlberg
has also said that the sequence of these stages is fixed.

Ques 170. ANS (B) Solution:

1A ¥ TRE el & Sl - Th Al Pl Taaril bl Wl Werd
3N IR T8 IXg3ft B g T St I Sevarie Tt B
8 & il | T8 BY 37 Tl § 3MhIHeb T b HGIER Bl
fae i |

Children aged seven to eleven watched a model play a game
of bowling and donated some of the items they won to the
"Needy Children's Fund". This statement will develop the
behavior of ‘aggression’ in these children.

Ques 171. ANS (B) Solution:

TS &% 1 TY B Sl IRRCT & 741 Hedd vard od § 396
SaERY 1 GUR AT 3 Ry 3 gat gedl @ R ara I @
3T BRI 3R d1e H 3 &M &N =il e I
HIERI BT GYRA & forg 31fm & sgagRare) Rgial or Wi
TR THA § ORI FARIGa e Rigia ok fosam vga
3rgsie Rigia srfel

In order to improve the behavior of students who are
mischievous and take intoxicants, a teacher should make
them aware of the diseases caused by such behavior and
later give them education. To improve their behaviour,
teachers can use behavioral theories of learning such as
classical conditioning theory and operant conditioning
theory etc.

Ques 172. ANS (C) Solution:

fR1e/F D T FHOR ST DI 3T T HY ¢hR U T
TS B H SRR OF 19d 81d 8, 5B O HHSIR gld
& aU1 P Ufaummel! g 81 U Rufa o SHeiR ofR
TITUTRITER G UPR & SHI BT IR SR ahR D!
IRYT G &l 1 [IBRId BT AT

The teacher should give separate time to a weak student and
study. In each class group, most of the students are average,
some students are weak and some are brilliant. In such a
situation, both weak and talented students should be given
additional instruction to develop their abilities and potential.
Ques 173. ANS (B) Solution:




TN FHeT H UM & SR U RI&id b Tg-RIe0r &1 Jag
SUYard dARIehT FHFTR fRIEUT T SUINT H=A1 AT FHHR
fR1&o1 o U g1 dHan Dl al Ried (T g7 Ried aur e
fafry fRrem U fRrere) Ty-T1 Ug 31 399 IH g 3R
ORI snazgesdr O I= ST WTY-TY AT B B

The most appropriate method of co-teaching that a teacher

should use while teaching in an inclusive classroom is parallel
teaching. In parallel teaching, two teachers (a head teacher
and a teacher with special education) teach the same class
together. Both normal children and children with special
needs benefit from this.

Ques 174. ANS (D) Solution:

ool fren & faer & Ffafad gfoat ok amemd - 1.
FHoR fagrerg gomelt 2. TeanT &t HHt 3. o SR S
ST TG 4. FHIRTS AR 5. S0 UTaashH awT 6.
faita el b1 3uTd 7. faererd & oard Riard! &t ot
3|

The following are the challenges and obstacles in the
development of inclusive education - 1. Rigid school system
2. Lack of cooperation 3. Inadequate and inappropriate state
provisions 4. Social attitudes 5. Defective curriculum system
6. Lack of financial resources 7. Lack of skilled teachers in the
school. Shortage etc.

Ques 175. ANS (B) Solution:

CCE T 40% fmfonets Heaie g | Fafnes qeie o
HRe & fore siraerr +ff 8T ST 81 39 UBR & Gedidh &l
T YIS B Dl 98 T D Uldfehar Urtd o3 § 9am
FAMI § O 35 S5k UG IR THTAT TTT BxA H ST Haa
E2uill

CCE has 40% formative assessment. Formative assessment is
also called ‘assessment for learning’. The main purpose of
this type of assessment is to enable students to get
constructive feedback that will help them learn better and
make effective progress.

Ques 176. ANS (A) Solution:

CCE youneht & fraferfed fadwamd 8- ) ol & 81 R
Tra &t WA P UgdH Bl g (i) SIRTETHS Ufdipar
U FIAT 7| (i) TR-I&01 Fenaft &} ugam Fa1 |
Safe s=t # ufawayf & HIa=T S¢rar 8- U8 HYT CCE Uumel!
& IR A I T 5

The CCE system has the following characteristics — (i)

Identifies learning progress over small sections of content. (ii)
Provides subcortical response. (iii) Identifies non-teaching
plans. While it increases the spirit of competition among
children — this statement is not true about the CCE system.
Ques 177. ANS (B) Solution:

Sfaciiop-ig a2l ¥ Fspe FAeprer &1 ufshar fazeivor Hgt St
21 foreft faem a1 SHaRITH T &1 YEaT J TRI&0r 6 Bt aT
I9F g Il &l WieH B! fhar o) fazawor g o smar g1
The process of drawing conclusions from observed facts is
called analysis. The process of minutely examining a law or
system and finding its basic elements is called 'analysis'.
Ques 178. ANS (A) Solution:

HE I FUINT R SfTHR’ Uchan S 3 forg famerdt
YT -fasmerdt mell § B & IR & IR & Yo1 UdhHa
B & forg fafdy el &1 ST BT =1MRT lich b

FHY 3MTeher fobdT o Hob | STet bl FRI&f H 3Tehei &l A
I DT I deb AfAd T81 @1 el Sfesh 38 I7h

F Y-y fagrerd & aest Siia I WY 9 8id 81 9l
3T b1 G ILTY 1P gIi<ich T b GrU-F1Y
IEIRD T BT Ht Tiha HRA1 gial g

To make assessment a ‘useful and interesting’ process, a
variety of methods should be used to collect information
about student learning across school and co-school
boundaries so that they can be holistically assessed. In child-
centred education, assessment is not limited to their
classroom knowledge only but it is extended to their
behaviour, attitude, values etc. which are directly related to
school as well as external life of the school. That is, the main
objective of assessment is to evaluate their theoretical
knowledge as well as their practical knowledge.

Ques 179. ANS (C) Solution:

3fffer TrTSiiarRUT a8 Ufehan g foraes Arens § faftm ggufr &
T & AT FATS BT 70T YAl ST 37eHT Ufafehar T 3
3R SIET- 31 fasmRid B § T 31 Wrar iR uRvleg o
3T TR Bl g | AP THTSHBROT G H TWRIBIUT Bl
T T B

Economic socialization is the process through which new
entrants to society respond and develop differently to people
from different backgrounds and behave differently in
economic thinking and perspective. Economic socialization
establishes stratification in the society.

Ques 180. ANS (D) Solution:

SfTIe- ST ey’ drefaTeres arfores s § 1 Arar-foa
3R s T Tt S J AR AII-FdT B g b &1 @l 2 |
TS Ui AP BRI P FIY-TT WHITS - [ HRUT B
i dreH B 6

'Parent-child relationship’ is a long-term social bond. The
relationship between parent and child continues from birth
till the death of the parent. Along with biological reasons,
socio-cultural reasons also contribute behind this.

Ques 181. ANS (C) Solution:

fHeiR e &1 e BT S5 AT AT Gdrsi &1
T 3T B S afdkadl o) T g & 14 IR i
D SART B H & T g |

A main objective of adolescent education is to develop social
psychological capabilities that enable individuals to transfer
knowledge and attitudes into healthy behavior.

Ques 182. ANS (C) Solution:

*fa 1Y SR F AR TS Rigres waft oft e 78t wwar §
e do 9 WY WG el ol o GO Meal B, 9T AT o1 o
& aRdfded U Y T deb RI&01 781 B Yebdl Sfd 0 a8
W Tt YRaaT 31 3l It UBR o UhR T v gOR o
DI YT 51 ¢ Fbdll, SId b 9 W 7 Sfeidll WG |

According to Rabindranath Tagore, 'A teacher can never
teach unless he himself learns'. In other words, he believed
that a teacher cannot truly teach unless he himself learns.
Just like a lamp cannot give light to another lamp unless it
itself keeps burning.

Ques 183. ANS (C) Solution:




famerdt ureTaal o1 IExg ¥ & gufed iyl Qe
SR I AT BT B | U & R € W far S
& op faemer & fftre Rl R fpu-for fawg &1 3 B 3
e STQT | 39 YR UreTmrd & Uleu-greh 1 e g 8
o Rraror uforan 1 g s o werd e 5
UTaIet &t TgRIdl & BT &1 GRgdl &1 Gedich- U iad
g & I fHar S ]

The objective of the school curriculum is to provide
integrated meaningful educational experiences to the child. It
is made clear through the curriculum that knowledge of
which subjects will be given to the students at different levels
in the school. In this way, curriculum determines the course
material which helps in planning the teaching process. With
the help of curriculum, the ability of students is evaluated
after a certain period of time.

Ques 184. ANS (A) Solution:

I BT Qe SeATH-aTH SR UTeashH IR & SfFeT g
T a8 IFD 79 H B1M SR S{TRTd BT HIGAT R ol & |
TIT ST il R & a1et AT BT HIa=1 BT FHed
BUIAD! S, STHarsh 3R 3% Sita- I Shsd gu
ST Uik 3R UISushH T g1a a1 ST g |

If the student is unaware of the educational pedagogy and
curriculum content, it can create a feeling of loss and
alienation in his mind. Therefore, in child-centred education,
the study process and curriculum are selected by
understanding the spirit of child psychology and connecting
them with their interests, needs and their lives.

Ques 185. ANS (A) Solution:

FHTCR TS T FT fFaR BIoRT ST W 3ifdes ik
FAT | PISRT SHTIRT BT 716 a8 1964 F f3a1 71 UT| SHD
el 31 1LY, HIBR

The idea of computer assisted learning depends more on the
Kothari Commission. Kothari Commission was constituted in
the year 1964. Its president Dr. D.S. Was Kothari.

Ques 186. ANS (D) Solution:

HI BT 1813 P IR TIT & dgd TR SI-Rel bl HRA
TRIET IR TP 1 A8 W T B BT SR &7 a1 596
THId B A AT HTwTSHi BT fR1an &1 FeEH §99 &1 va
foa| gTaiies I ATy Srthd 5T SR 1835 & HepTel A1 &
Ted SHIST B fRI& 1 HIegH ST |

Under the Charter Act of 1813, the Company was given the
right to spend Rs 1 lakh on Indian education to the Governor
General, after which the Company tried to make regional
languages the medium of education. However, this attempt
was unsuccessful and under the Macaulay Policy of 1835,
English was made the medium of instruction.

Ques 187. ANS (B) Solution:

F U TR IR AT Td ST siide &t UTed YR
&1 1o arafass siiae ot Rl 3 s R 99 3T B
IS UTSuradt ST FUR@I-2005 9 &1 W d &oll © b
IrIfoTes IR &1 ureugwes SR fawaag &1 oifte ¥ sifiew
HHa TP F a1 & ¢ Siad 3 s o

Teaching of textbooks on social and political life at the upper

primary level emphasizes learning from real life situations.
The National Curriculum Framework — 2005 emphasizes that

the textbook and content of social sciences should be linked
to the daily life of children in as many ways as possible.

Ques 188. ANS (C) Solution:

I WY TR R i FRi&or o forg &=-ywor fafy ges
I § | T, Tipfaes <, Ueiies wuat qut 3= fawa
D UTISIAE] BT T YAETHI gRT e 5 dd 31fieh Sfaar
TYUT TR B Il & | 59 foTg &-ymur fafdy sl
TUTGRITCH B

The field trip method is most suitable for teaching
geography at the upper primary level. The knowledge of the
subject matter of geography, natural scenes, historical places
and other subjects becomes more interesting and
understandable when it is given through perception. For this
the field trip method is more effective.

Ques 189. ANS (A) Solution:

U WR B BTl § 5= Ug gU H! [y TR TH3 §
Tg Id 30 W F 3Hd & o ford gu wreal & Taifdd g9
BT IAD! & TR ST BIell 8 | TW-3JHT GRT 3ifofd I
wTeT I SR Iuantt g 21

In primary grades, how children understand what they read is
based on their ability to relate the written words to their own
experiences. Knowledge acquired through self-experience is
more permanent and useful.

Ques 190. ANS (C) Solution:

et & fore e vd sifrard Rien 7 sifeR gy etla
2010 & A1 foram a1 e 1 ISR Siffad & eraiid 6
T 1498 BT 31 F T DI e IR SRS e ga Ha
&1 TrayT foar man 7 | e &1 iR sififem &1 fmfor af
2009 ¥ fo5aT T T TR=g 3 1 3409, 2010 F AR {3 T

The Right of Children to Free and Compulsory Education Act
was implemented in April 2010. Under the Right to Education
Act, a provision has been made to provide free and
compulsory education to children in the age group of 6 to 14
years. The Right to Education Act was enacted in the year
2009 but it came into effect from April 1, 2010.

Ques 191. ANS (A) Solution:

1.3Jew w4 sifard Riem siffam 2009 & a5 faemad uey
T 3 T3 1 vrae foar w3 | o et T 8 - (1)
R e U faemerdl &) Sied Ay gt faemet
AT AN 811 & 6818 & HIaR fawmmera sy afifa &1 187
T ST | foraahT SridTet 3 IO &1 g 3 9N T Srafy gt
B TR AT &1 GviaA fobar ST (2) |itifa & wewi &t
ST 16 BT Toreh 12 Fag ATdl-fUdT a1 3if¥uTaei # 9 g1
(3) AT & AW 4 Fewd Fgad BT () TUTEATID/THH
fRierep (@) farermera 1 Ueb fRigep () T B wfaffer (o) wirg
g &1 ve Faffaa ufaffy 4) afafa wrar-foa sei 5 @
Ueh 3(¢081 Ud U JUTehe bl =0 it | faegnerg &
YT/ U fR1& TeiY T & U o Jaeish siil|
Under the Free and Compulsory Education Act 2009, a
provision has been made for the formation of a school
management committee. In which it is said that:- (1) School
Management Committee will be formed in all the schools
except unaided schools within 6 months of the
implementation of the Act. Whose tenure will be for 3 years.
The committee will be reconstituted after completion of
three years. (2) The number of members in the committee




will be 16, of which 12 members will be from among the
parents or guardians. (3) The remaining 4 members of the
committee will be as follows (a) Principal/Head Teacher (b)
One teacher from the school (c) One student representative
(d) One elected representative of the local body (4) One of
the parent members of the committee Will select a president
and a vice president. The headmaster/head teacher of the
school will be the ex-officio member of the management
committee.

Ques 192. ANS (D) Solution:

W USYE U WU Rigie O qurdt e, SReds
Ufafehan Td iTe- SR 39 9t &3 § g g9 &1 |JiT
FRAT T

School management demands from a primary teacher to be
effective in all these areas: effective instruction, structural
feedback and self-discipline.

Ques 193. ANS (B) Solution:

ST AT & Hew™ Pl Hedidh HRd T T8 Hggul
T Hra-faaR Mg g1 ¢ f srgeium & fsssf &1
TRI&TRIRER, HTa-fodT SiR AT Bridaf g & forg
fore Heagui 3

While evaluating the importance of the research problem, it
is important to consider socially how important the research
findings are for educationists, parents and social workers etc.
Ques 194. ANS (C) Solution:

I TS TR & faenfidt o g foxe &t aRaie &
T8 &1 YHUI B 1 Dl ol bl &, Forad b a8
YRS 3R fa=Rt & A1y IRafawarsit &1 o wa o
1 g 3 RIT I UG e o 9 | &7 yHo I & gR1 T
YA TYUT Tl ATATaR0T ST b1 o S § g rfore
TRIE0T BT aTR firerar 1

Students at the upper primary level may be asked to
undertake 'field trips' as part of a social science project to
enable them to compare concepts and ideas with realities
and provide lasting knowledge. Through the field trip
method, the student is brought into an open and free
environment which provides an opportunity for social
training.

Ques 195. ANS (A) Solution:

I TR & TR A &1 g & ol pem-wer § a9kl
WIS U IS &1 USRI T @ Wi fash! &1, T
3{ferep Iferd uiRars1 g1 | Ui faftl & Sl & sitaT 9§
TERIT gaRe] &I aRafdd w0 § vRgd fomar S g | e
Had (I &1 B a1 3| BT T fava-avg ameh &1
ST PR THRI HT THIY FRdl ¢ |

To teach different types of market subjects, the most suitable
project would be to organize an exhibition and symbolic sale
of the products purchased from the markets in the
classroom. In the project method, problems related to the life
of students are presented in real form. The teacher only does
the work of instruction. Students solve problems by studying
the subject matter material themselves.

Ques 196. ANS (A) Solution:

TG TP SHAUD B D IV & (el &1 AR ¥ & HieH
&1 AR fAfdydrt ugr g, @ 59 forg warad fafd g
fob 31U =1 o fafier Il & faftrs |l gRT @MY S arel

fafde Hiem & IR # fenlil &1 vieiae <1 399 oF Wd 9
P HrAT |

If a teacher has to teach the cultural diversity of food of our
country to the students of class IV, then the best method for
this would be to give a project to the students about the
diverse food eaten by different people of different states of
our country. With this, students will learn by doing on their
own.

Ques 197. ANS (C) Solution:

SThHUT (sequencing) ﬁ?ﬁ 313?13!3%{ oI fafafy & srar g1
3IHHY BT 34 § - HHES RIP ¥ 3 T

Sequencing comes in the activity of listening and reading.
Sequencing means to proceed in an orderly manner.

Ques 198. ANS (C) Solution:

AT fAaT8 (Roll Play) HTST & fofT Ueh SR UG &Rl §
O arerT T # UM 1 S arelt Hel H Ugd fabar S
31 I & ARy a8 g & o o s YHeT Fumd § 8k
forddt B¢ URERT & R 9 39 YfAidT § dierd SR 31y
A & U1 3 R U Bt 4ffrepT FHT @ B 3P IaeR 3R
I BT T A B

Role play provides an opportunity for language that is
presented in a story to be used in a different context. A role
play activity is one in which students take on a role and
during a short scenario they speak and act in that role and
adopt the behavior and actions of the character they are
playing.

Ques 199. ANS (A) Solution:

afarofia 3991 § YR aF & T wpa A arTar mfafafiat
FMT HIRAS Bial o | GO Xeai B, faammer & o=
gafaruita Riem § ST 31 STearaw ¥ g 86 § gty
TSl 3R WU & Ul AT 3R INGRT 1 A Rad w
ARG g | 3fck: Tt B! fqerer URIR & SFTarT JUT g&Rigor
EREIEIIEY!

To improve environmental attitude, it is necessary to conduct
gardening activities in schools. In other words, environmental
education is imparted to children in school. It is necessary to
develop consciousness and attitude towards environmental
cleanliness and conservation in students right from
childhood. Therefore, children should be involved in
gardening and tree plantation in the school premises.

Ques 200. ANS (A) Solution:

BT FR1& PRIHH BT Bl ITGD & IR [TbRId PR
& AR e Heal 3| faemers ® ST B wrf s
Tfafafeat BT S §, T 378 e ¥ Heifdd d1=rel &1
T fopa S weh | TrgTe el F ot o SR e & Brd
fR1em wrRiceH W 9@ o 31

Work education programs provide students with
opportunities to develop productive capacity skills. Work
based activities are imparted to the students in the school, so
that production related skills can be developed in them.
Mahatma Gandhi has also emphasized on work education
program in his basic education.




